
 

l;=g ljlgof]lht lzif{s of]hgfsf] gfd 

 

ljlgof]lht /sd ?= 

 

1 
k"jf{wf/ ljsf; j*f g+= 6 :yflgo ;*s dd{t tyf 

lgdf{)f 
1000000.– 

2 
k"jf{wf/ ljsf;  

g]kfg] kGrsGof ;*s la:tf/ 500000.— 

3 
k"jf{wf/ ljsf; tfnfdf/fË,(+'ufgfa];L atf;] ;*s 

dd{t tyf lgdf{)f 500000.— 

4 k"jf{wf/ ljsf; lgUn]gL vf]nf *f+*f v]t l;+rfO{ of]hgf 500000.— 

5 k"jf{wf/ ljsf; j*f sfof{no ejg dd{t 700000.— 

6 
k"jf{wf/ ljsf; du/^f]n, k;n]*f+*f,('Ëfgfa];L 

Plss[t a:tL df]=jf= lgdf{)f 700000.— 

7 
;fdflhs ljsf; ljB\ofnox?sf] ef}lts tyf z}lIfs 

ljsf; sfo{s|d 600000.— 

8 ;fdflhs ljsf; :jf:Yo rf}sL Joj:yfkg 50000.— 

9 ;fdflhs ljsf; ('Ëfgfj];L vfg]kfgL of]hgf 500000.— 

10 cfly{s ljsf; cf/g ;'wf/ sfo{s|d 115000.— 

11 
;+:yfut ljsf;÷;]jfk|jfx 

^f]n ;'wf/ ;ldlt u&g tyf ;+rfng 100000.— 

12 
;+:yfut ljsf;÷;]jfk|jfx sfof{no Joj:yfkg, k|zf;g                   

k|a{wg Pj+ Joj:yfkg 
150000.— 

d]nDrL gu/kfnLsf 

gu/ sfo{kflnsfsf] sfof{no 

d]nDrL, l;Gw'kfNrf]s 

of]hgf tyf sfo{s|dsf] ljj/0f 

 

j8f g+=M—^                                                                         cf=j=M—@)&%÷@)&^ 



13 
jftfj/)f tyf ljkt 
Joj:yfkg 

ljkt Joj:yfkg tyf kmf]x/  
d}nf Joj:yfkg 100000.— 

                           hDdf ?= 5515000.— 
 


